Y NEWSIKILL

TANARIS RGE

PROFESSIONAL GAMING DESK

USER MANUAL




S NeEwskice TANARIS RGB

Installation Tips

Please don't tighten the screws completely and go back later for a final tightening of all
the screws after pieces are aligned with each other.

Lacy a mat or old blanket out to assemble onto so the floor and the funiture doesn't get
scratched or damaged during building

Part list

—
———

¥ X2

Column Crossbar End Suit Base

X2 x1 < x2

Side Backet Socket Box Socket Box Fixed

X2

Front Panel He adset Holder Leveling Studs

X6

Accessory Kit

[<=>]
x8 X6 x8 x8 = x20 x4
M6x12 Screws M6x16 Screws M6x8 Screws M8x12 Screws M8 Nut M6x14 Screws M4x4 Screws

- x1 % x1 %ﬂ %H / X2 ¢ X4 % X3

3mm 4mm 5mm 13mm Tabletop Tabletop Tabletop
Allen Wrench Allen Wrench Allen Wrench Allen Wrench Fixed Part1 Fixed Part2 Fixed Part3



Column

Base
Leveling Studs

M6x16 Screws

X2

X2

X6

x8

HNeEwskiee TANARIS RGB




S NeEwskice TANARIS RGB

Step2

Crossbar End Suit x1

M6x12 Screws x8

Step3

Crossbar End Suit x1

M8x12 Screws x8

M8 Nut x8



HNeEwskiee TANARIS RGB

Step4

Side Backet X2

M6x8 Screws X6



S NeEwskice TANARIS RGB

Step5

Socket Box
Socket Box Fixed
Front Panel
Headset Holder

M6x14 Screws

x1

X2

X2

x1

x20

desktop

Tabletop Fixed Part1  x2
Tabletop Fixed Part2 x4
Tabletop Fixed Part3  x3

M4x4 Screws x4



HNeEwskiee TANARIS RGB

Step6

Add RGB lighting

Add RGB lighting




NENSKILL

MORE INFORMATION AT



